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And it is Rabi Meyer who says, everything follows the ‘underpinning’.

Overview

The X3 explained that when we say that 79°2v is effective for a n°>1371 %2 itis in a
case where they was a hole in the n°2121 °95 and the hole was filled by pouring lead
into it, so now the *3 is considered like a n1onn >3 since the functionality of the ¥
depends on the lead. The lead is something which is 7nv» the °22. This follows the
view of n"7 who maintains 72v%:7 X 7237 2277, Our Moo explains why the &7n3
mentions 1" specifically when others also maintain 7nyn:7 0K 7237 21,
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And in 7wR 723 P9 where the Xn»12 states, ‘for 1''9 would say, regarding a

ring follow the signet -
- 9919 2>mAasHy NN 790 B0 1PNYND NN 79N NIva

By a yoke follow its pegs, by a ladder follow its rungs, etc.
- 215910 IR 790 590 DN B39N)

However the 29251 say everything follows the 75»y%; why did the X113 here say that
we follow n"1 who says 71y 90K 79171 237, when the o°nan also say it” -

mooIn explains:
- DINY PINNIY NN NT TNRYN 9P NINT XIN NN NY

The X 12 did not bring the view of the 0251 here and say the Xn>172 is like the

o°0m, because here we call the 792y» the lead which is poured into the *75 -
19U N NN DIIANNY D910 7 1NY PID 1I8Y 593 YN 137 RN S99 0N

And there '7nyn' is referred to the item which supports the utensil itself, for
instance the sides of the ladder which join the rungs.

' The Xn»"2 there is discussing if there is an object which is made of two materials, one which is 7%= %22 and the
other which is not 787 92pn, is this item 78R 23pR or not. 1" rules that regarding a ring we follow its signet (or
seal), if the amn is made of a material which is nXmv 72pn (like metal) the ring is IRV 220,

* If the 11910 in a yoke or the M2°2w in a ladder are made of metal, the % and the 0910 are fx®I 22pn.

? The ring is 7»yn the onin and the 91 is 7my» the 11710 and the sides of the ladder are Tnn the rungs. Therefore
according to the o°»2n it is the exact opposite from 1".

s preferable to establish the Xn>12 like the 0°non (a 0°27) than to establish it like »"9 (a 7°1). Additionally »"9 in
the cited Xn>"2 does not state clearly 7nvni IR 7237 257, while the 030 do.

> mooin distinguishes between two types of Tnwn. In the case of a ladder, the sides of the latter allow there to be
rungs, the ring allows there to be a signet; however here the poured in lead does not support the glass, rather the
glass is there regardless. The lead is 7y, only in the sense that the n*3137 °73 is now functional. The 251 may not
consider the lead to be a 7°n¥yni 727. See “Thinking it over’.
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Summary
There are different types of 7yni7 727.

Thinking it over
Why indeed do we consider the 22X, which is poured into the n°>1371 °%3, the 927

TnYnn; it may be true that without the 12X the °%5 would not be functional, but it
certainly would not be functional without the glass; why is the 72X more 772972 than
the glass?!°

® See anma K.
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